AM.3.UP... / AM.3.UP1... MODULAR
PILOT OPERATED CHECK VALVES CETOP 3 (Daran

AM.3.UP type modular check valves

allow free flow in one direction by Mfa)f' operatlng_pressure X 350 bar
raising a conical seated poppet valve, M!n!mum opening pressure spring ! 1 bar
while in the opposite direction the l;/l_llmtr_num tt)_peAn;agsplﬁssure spring 5 5 t:a‘{
fluid can return by means of a small foting ratio e e
piston piloted by the other line pres- Piloting ratio AM.3.UP1 1'12’_5
sure (piloted side). Max. ﬂo_w . . . 40 Vmin
AM3.UP / AM.3.UP1... ) ) Hydraulic fluids Mineral oils DIN 51524
They are available on single A or B | Fluid viscosity 10 + 500 mm?/s
SCREWS AND STUDS CH. IV pacE 21 lines, and double A and B lines (see | Fluid temperature -25°C + 75°C
hydraulic symbols). Ambient temperature -25°C + 60°C
A pre-opening version is also avail- Max. contamlnatlonv\llg;]/e'\llASclfes§81‘?Viltﬂ zﬁg‘:gaggg
able (AM3UP1..) only with 5 barspring. Weight 2%? Kg
HyprauLIic symBoLS Pressure prors AM3UP
22
— 20
- == —-I= 18
| I 16
| AM3.UPA “
— ~— 12
ORDERING CODE Bnrne S s >
_ o ® o A
Modular valve ‘ o ‘ R
| | 4
("3 )| ceToPa/NGs | | AM3.UPB : =
A P T B uo 5 W %W Bd W B M
@ UP = Piloted check valve B Q (Vmin)
UP1 = With pre-opening ‘ il o ‘
! ! Pressure props AM3UP1
()| Gontrolonlines A/B/AB | | AM3UPAB
A P T B !
@ Minimum opening *
pressure *
1 =1 bar (only for UP version) ” kS
5=>5bar =
8 8
@ 00 = No variant S L o®
V1 = Viton *
, The fluid used is a mineral oil with a viscosity of : o
@ Serial No. 46 mm?/s at 40°C. The tests have been carried R EEEERE
out a fluid temperature of 50°C. Q (Vmin)

Curve n. 3 = Piloted side flow
OVERALL DIMENSIONS

101
T P
T T T T T T
® | 1 =N
- TYPE:AM. 3. UP .AB. | 3 | j\
L [
N @\‘\ \T\ 9] | * | -
[qV) I ‘ \/ \\ ‘ I
o L Py \ =
I IR . SV TR P I I
[A B T] P
& 89. 5 OR 2-012/90
[Ne} 5~§
S M N
— D rgn\
- q T/f}L S
\d
i a s Il
2 I T L7 W T N
[ve]
I — \ //f\\ e
— LD \\} AN
P T
n N ‘m‘ N i
£ ¥ =
! ! Support plane
(o Bl 03]
21.3 19.2 specifications '
7
Vedg

PDF created with pdfFactory Pro trial version www.pdffactory.com



http://www.pdffactory.com
http://www.pdffactory.com

AM.3.VM... / AM.3.VL... moDULAR

MAX. PRESSURE VALVES CETOP 3

AM.3.VM type pressure regulating
valves are available with a pressure
range of 2 + 320 bar.

Adjustment is by means of a grub
screw or a plastic knob.

Three basic versions are available:

- AM3VM on single A or B lines, and
on A and B lines, with drainage to T;
- AM3VMP on single P line, with
drainage to T;

- AM3Vlonsingle A orB lines,and on
A and B lines, with crossed drainage
on A or B (see hydraulic symbols).

Qaron

Max. operating pressure 320 bar
Setting ranges: spring 1 max. 50 bar
spring 2 max. 150 bar
spring 3 max. 320 bar
Max. flow 40 I/min

Mineral oils DIN 51524
10 + 500 mm?/s
-25°C + 75°C

Hydraulic fluids
Fluid viscosity
Fluid temperature
Ambient temperature -25°C + 60°C
Max. contamination level class 10 in accordance
with NAS 1638 with filter B,.275
Weight AM.3.VM.A/B/P... 1,2 Kg
Weight AM.3.VM.AB... 1,3Kg
Weight AM.3.VI.A/B... 2 Kg

AM.3.VM / AM.3.VI... All versions ﬁan al_cbcept Lhree types of | weight AM.3.VI.AB... 2,2 Kg
springs with calibrated ranges as
CMP.10... BFP CARTRIDGE CATALOGUE shown in the specifications.
SCREWS AND STUDS CH. IV paGE 21
The cartridge, which is the same for all
versions, is the direct acting type
CMP10. o HyprauLic symBoLs
For the minimum permissible set-
ting pressure depending on the B
spring, see minimum pressure set- ‘ L[] ‘
ting curve. ‘ ‘
1
ORDERING CODE ‘ - ‘ AM.3.VM.A
APTB
Modular valve
| Mo |
@ CETOP 3/NG6 ! [ !
PRESSURE - FLOW RATE ‘ J ‘ AM3.VMB
@ VM = Maximum pressure 60 s APTE R
VI = Maximum pressure crossline 320 N
280 |
@ Adjustment on the lines 240
AM.3.VM Version=A/B/P/AB | a0 | X |
AM.3.VI Version=A/B/AB @ 160 2 ‘ M | ‘ AM.3.VM.P
=) APTB
o 120
@ Type of adjustment 80 -
M = Plastic knob 40 1 ‘ M ‘
C = Grub screw o [ \ ' [
0 5 10 15 20 .25 30 35 40 ‘ - ] - ‘ AM.3.VM.AB
@ Setting ranges at port A/B/P Q (Vmin) APTEH
1 = max. 50 bar (white spring) R . -
2 = max. 150 bar (yellow spring) Curvesn®1-2-3 = setting ranges ‘ e ‘
3 = max. 320 bar (green spring) w 1 [
MINIMUM SETTING PRESSURE ‘ g ‘ AM.3.VI.A
@ Setting ranges at port B 100 APTB
(Omit if the setting is same — 3
as that at port A) 80 /// ‘ [ - ‘
1 = max. 50 bar (white spring) ‘ . ‘
2 = max. 150 bar (yellow spring) | __ & L ‘ AM.3VIB
3 = max. 320 bar (green spring) g P , AeTE
(=) | 00=Novariant B :
= No varian 20 — 1 Il
VA1 = Viton . | E:M
0 | 1 L |
) 0 10 20 30 40 S AM.3.VI.AB
Serial No. ) ‘ L ‘
@ Q (I/min) APTB
Ved

PDF created with pdfFactory Pro trial version www.pdffactory.com



http://www.pdffactory.com
http://www.pdffactory.com

AM.3.VM.../AM.3.VI... MODULAR MAX. PRESSURE VALVES CETOP 3

OVERALL DIMENSIONS

oaron

AM.3.VM.AB...
max. 230
123 max. 57.5
[ [
= IR ®
H - 1T bt
=S [ =
[ == M **@‘\‘ I ‘\‘@** g © = =
i %‘ . R N
& — e [l Y
Lol Lol
Ch.s CH. L7 IR /B
OR 2-012/90 /
max. 231
max. 58 L5 max. 58
|
— N &
y R 4 A I
i _" N N ‘ o
M B e - f o~
0 )| " ’/f}Jr C My
, & N
N P \
Type of adjustment ! 9|9 ! 6&
. & Support plane
M Plastic knob 21.3119.2 specifications '
70
C  Grub screw =
AM.3.VM.P...
max. 163
| | [
T
B i
o S ; _ —
<@ T M
! il
il I SN A ——
I I INT
I OR 2-012/90
J|
2 ~ T
" e /C) Qi it
S I 2. K _ — "~
™) [\ AR\ H— - — —aot = |
" T My
N <
) | Pl YN Il
3 T N
2 919 NS max. 58 max. 57.5
21.3]19.2 N
Type of adjustment _ 695
M Plastic knob Supgonglane .
specifications V4
C  Grub screw
AM.3.VLAB...
max. 220
max. 180
max.57. 5
| )
C | W- _){:: <
) - L
2 = E _ 7: '4(\\_
)
H CH. 17 y Ch.5 =
N
OR 2-0
—
M*H — n E — '
= - S | :
“l % . ",
——
Type of adjustment
M Plastic knob nex:S8 Supportplane & 07]
specifications
C  Grub screw A

Ve 10

PDF created with pdfFactory Pro trial version www.pdffactory.com



http://www.pdffactory.com
http://www.pdffactory.com

AM.3.QF... moDULAR
FLOW REGULATOR CETOP 3

Qaron

AM.3.QF type one way non-compen-
sated throttle valve are fitted with an
O-Ring mounting plate which allows
its assembly for either input or output
regulation. Adjustment is obtained by
means of a grub screw or a plastic

knob. They are available in the four

AM.3.QF...

regulating configurations shown inthe

SCREWS AND STUDS CH. IV paGgE 21

hydraulic diagrams.

The standard valve configuration al-
lows "meter in" regulation, while it is

Weight

Max. operating pressure 350 bar
Max. pressure adjustable 250 bar
Flow rate regulation on 8 screw turns
Max. flow 40 I/min

Hydraulic fluids

Fluid viscosity

Fluid temperature
Ambient temperature
Max. contamination level

Mineral oils DIN 51524
10 + 500 mm?/s

-25°C + 75°C

-25°C + 60°C

class 10 in accordance
with NAS 1638 with filter 3,.275

257

1,5 Kg

possible to obtain "meter out" regula-
tion by turning the valve by 180° along
its longitudinal axis.

ORDERING CODE FLow REGULATION FREE FLOW
= TOWARDS CHECK VALVE
Modular valve wh 1 Il /T 1]
P 10
- / / .
(3 )| cETOP 3/NG6 A
B I T Y e
Non compensated throttle valve E‘Z ] 7 :
= I =
. 2" 17 &
Control on lines < <
A/B/P/AB NYNa4 » <,
/ L 2
@ Type of adjustment . p o » o T
M = Plastic knob Q (Vmin) o a2 » W -
C = Grub screw Q (Vmin)
@ 00 = No variant
V1 = Viton
HypRrAuLIC sYmBOLS
@ Serial No. _ - _ -
| { | | } | | | | { }\‘
A P T B A P T B A P T B A P T B
AM.3.QF.A AM.3.QF.B AM.3.QF.P AM.3.QF.AB
OVERALL DIMENSIONS
max. 188. 5 K = OR plate
max. 148. 5 |
. Ch. 6
DL
! RN
2 NN ¢
[RIEEN [RENAN
/ CH. 30 Type of adjustment
max. 47
® M Plastic knob
max. 187.5
max. 46.5 94.5 max. 46.5 € Grub screw
Ln)|
S L J P —
B $ ()T A mAl I
i l‘ém Ak kB A= ol M
I I O i o o
I . m Zs - o =]
T & [P N L c
u’l) —\ A\ r_
S
21.3[19.2 $ Support plane —
max. 148 specifications \vi
%
Ve 17

PDF created with pdfFactory Pro trial version www.pdffactory.com



http://www.pdffactory.com
http://www.pdffactory.com

-
k)

BS.3... SINGLE STATION SUBPLATE

CETOP 3 SUBPLATES

BS.3.01... / BS.3.0"...
CH. VIl PAGE 7

BS.3.10/11... / BS.3.12/13...
BS.3.14/15... / BS.3.16/17...

CH. VIl PAGE 8
BS.3.20/21... / BS.VMP.10...
BS.3.W... CH. VIl PAGE 9
BC.3.25/27... / BC.3.30/32...
BC.3.40... CH. VIl pagE 10
BC.3.41/*...
CH. VIl page 11

BC.3.50... /BC.3.51...
BC.3.07... /BC.3.107...
CH. VIl paGge 12

BC.3.08... / BC.3.09...
BC.06.XQ3... / BC.06.XQP3...
CH. VIl page 13

BC.06.25/27...
Cap. VIl PAGE 14

BC.06.30/32... / BC.06.40...

BC.06.41/*... CH. VIl PaGE 15
BM.3.**... / BM.3.60...

CH. VIl paGgE 16
BM.3.50.../ BM.3.70...

CH. VIl page 17
BM.3.52... / BM.3.72...

CH. VIl paGgE 18
CMP.10... BFP CARTRIDGE CATALOGUE
XQ.3... CH. VIII PagE 12
XQP.3... CH. VIII PaGE 14

BS.3.01...
BS. . 01
Single subplate (blanking) | ‘
(3 )| cETOP3/INGG \—FLLZJ:—‘
01 P/T/A/B closed oo
No variant | | |
| o Cl ﬁ—'—‘f
| | LN
Serial No. i 1
© 5.5 \
Weight: 0,2 Kg f
T
Fixing screws @ s % @
M5x14 UNI 5931 ! f\\ R Ll
K = plate OR (Q25.95.0001) = _ Ll :B, o2
] ﬂ\ Ll\\ L/ " I
\
N R\
21.3 | 19.2
68
BS.3.**...
BS. X. 02 BS. X. 06
BS Single subplate (blanking) ‘ - ‘ ‘ B .
@ CETOP 3/NG6 ‘ P T B A ‘ ‘ I T B A ‘
(= ) | 02/03/04/05/06/07/08/09 e mwe
No variant ‘ o ‘ | 1 11 |
P T B A P T B A
Serial No. BS. X. 04 BS. . 08
| | |
B T 1
P T B A P T B A
BS. %. 05 174" BS. .09
0 | L |
| | Ty Y O O A
H‘,J H‘p P T B A P T 8 A
i Il I |
\‘\ \‘\ «
= =
255
Sy T @
v
" @ T+’L I
y AN B v,
T AT i
o
N P Y
21.5 | 19.2
68
Weight: 0,5 Kg

Fixing screws M5x30 UNI 5931

Vil e 7

PDF created with pdfFactory Pro trial version www.pdffactory.com



http://www.pdffactory.com
http://www.pdffactory.com

BS.3... SINGLE STATION SUBPLATE

BS.3.10/11... (REAR CONNECTORS)

3] 10 24

Single subplate

N
T

W

CETOP 3/NGé6

-
h
!
I

10 = 1/8" BSP rear connectors
11 = 1/4" BSP rear connectors

7

|
///jw\ ¢
~ \\////“\\
CG o
//2\ ST
N g\
N e
19.2]21.3
|
i
|
&
70
L06
86
T =
4404

AR i '
No variant Ny i
& N
Serial No. @ C % \%b//
30.5 30 \\“\g‘b 48
N

Weight: 0,7 Kg - Fixing screws M8x20 UNI 5931

BS.3.12/13 (REAR CONNECTORS)

. 31 __18 n 50
Single subplate == 2 4{‘ g = =
T~ Y [ - 3

("3) | cETOP3NG6 - A @}
(= )| 12=38BsP S “ P

rear connectors b ST SEE RIS =

13= 1/4" BSP ] - RNk

rear connectors M s

5 b B S &
No variant Lo : £ T <)
325 50 17\47;?26? _30_
Serial No. 47 % &5
7 Weight: 1 Kg - Fixing screws M5x25 UNI 5931
BS.3.14/15 (sIbE CONNECTORS)
60 35 -
= T = Q\
Single subplate 2 ‘ﬁﬂ P‘l:li ﬂ
| T ] T _

('3 )| ceETOP3/NGE *%i‘*iﬁ* g
@ 14 = 3/8" BSP side connectors " a B ,,{;

15 = 1/4" BSP side connectors - o

° | P 54%

No variant do ] TERR
Serial No. 17

Weight: 1,2 Kg - Fixing screws M5x35 UNI 5931

BS.3.16/17 (connecToRs siDE A anD B, REAR P anp T)

65

Single subplate —=0

%

CETOP 3/NGé6

:T =

|
©
<

16 = 3/8" BSP rear X
and side connectors
17 = 1/4" BSP rear

and side connectors

110
70

f
/!
1~
\
I/
19.2{21.3

1
=g
Pa
A
1 F
=T

B o

No variant ‘

‘ \2

i \
Serial No. 25

47

Weight: 1,8 Kg - Fixing screws M5x40 UNI 5931

]

S |
©

|

\rT
P

Yol

Vil e 8

PDF created with pdfFactory Pro trial version www.pdffactory.com



http://www.pdffactory.com
http://www.pdffactory.com

BS.5... SINGLE STATION SUBPLATE

BS.5.01...
BS. X. 01
Single subplate (blanking) ‘
(5 )| CETOPS5/NG10 T
01 P/T/A/B closed
CETOP 5 SUBPLATES
BS.5.01 / BS.5.0* CH. VIl pace 19 No variant
BS5.12.. / BS.5.13...
BS.5.14... / BS.5.15... Serial No.
CH. VIl pace 20
BS5.16.. / BS.5.17...
BS.5.3... CH. VIl paGE 21 'PzVTt:erjtion Pll_east?, usetthfse 210.5
subplate in applications at slow T_’(;
BS.5.30/31... CH. VIl PaGE 22 pressure (P max. 150 bar dy- 1 1
BS.VMP 20... / BS5.29... namic) I e ]
CH. VIl PaGE 23 ! ‘ e \‘
. N
BC.5.36/28... Ch. VIl paGe 24 ® &
BC.5.41/*... /BC.5.40... | -
CH. VIl PAGE 25 @ /‘E @
BC.5.30/32... / BC.5.50... / BC.5.51... i
I
CH. VIl PAGE 26 o ?/\\\) r//‘\? -
BC.5.07... /BC.5.107... ~ T TN ‘ Jo-T <
BC.5.3A... / BC.10.06... i o l
CH. VIl PaGE 27 €§ ‘ é)
BM.5.**... / BM.5.50... 1
CH. VIl pace 28 54
BM.5.60... / BM.5.70... ) = oy
BM.5.80... CH. Vil pace2g | Weight: 05Kg
Fixing screws
M6x15 UNI 5931
CMP.20... BFP CARTRIDGE CATALOGUE K = plate OR (Q25.95.0002)
CMP.30... BFP CARTRIDGE CATALOGUE
BS.5.*...
BS. X. 02 BS. %. 06
Single subplate (blanking) | FF‘
@ CETOP 5/NG10 P 1T B A ‘ P T B A
(= )| 02/03/04/05/06/07/08/09 sroswre
210.5 - |
(00 ) | Novariant T A s O A A
- if *iﬁ P T B A P T B A
Serial No. " i ‘ Il 2 BS. %. 04 BS. %. 08
o \‘\ rh i | |
e L N l | !
1 1
26: 5 \OR 2-014/90 ol | I ng I |
|
I3 BS. %. 05 | /e BS. %09 |
AR @
R e - |
a_ < l
i B [ A
N ! L — . P T B A P T B A
TN TR T =
+& ‘ T%%# ’
‘ )
\
— 54 —
=
Weight: 1,2 Kg
Fixing screws M6x35 UNI 5931
Ve 19

PDF created with pdfFactory Pro trial version www.pdffactory.com



http://www.pdffactory.com
http://www.pdffactory.com

BS.5... SINGLE STATION SUBPLATE

BS.5.12 (REAR CONNECTORS)

Single subplate

ElE

CETOP 5/NG10
1/2" BSP

rear connectors
No variant
Serial No.

2]0.5

125
195

Weight: 2,7 Kg - Fixing screws M6x25 UNI 5931

BS.5.13 (REAR CONNECTORS)

Single subplate

@ CETOP 5/NG10
3/4" BSP

rear connectors
No variant
Serial No.

125

~
T
\
‘L\
7/
|
| Jﬁ
’T‘Tﬁ
‘ 26. 5
210.5

37.5

195
96
5‘4
\

y
i

i
r

,,,,,,

N V)

BS.5.14 (sIDE CONNECTORS)

Single subplate

(/5 ) | CETOPS5/NG10
:1s|/§e Egrlljnectors
No variant
Serial No.

/

210.5

g
729
I
T

{\
/3

@

125
105
96

N s

_r 5“‘ )
&
T
[ J
e

@1 11 ©

BS.5.15 (sIDE CONNECTORS)

Single subplate

(15 ) | CETOPS5/NG10
3/4" BSP

side connectors
No variant
Serial No.

125

105

96

T«
\

}

Weight: 3,8 Kg - Fixing screws M6x50 UNI 5931

Vil e 20

PDF created with pdfFactory Pro trial version www.pdffactory.com



http://www.pdffactory.com
http://www.pdffactory.com

BS.5... SINGLE STATION SUBPLATE Qaron

BS.5.16 (connecToRs siDE A anD B, Rear P anp T)

Single subplate ‘ \_fﬁ
‘ B B
(5 )| cCETOPS5/NG10 100 2 P
_ 80 _ 20
1/2' BSP 7
rear and side connectors = 5 5‘0
A g \ AN
No variant == A hd
-
Serial No. ! i
Weight: 2,6 Kg .
Fixing screws M6x20 UNI 5931 ! —
k=& -
@& %

BS.5.17 (connecToRs siDE A anp B, rRear P anp T)

Single subplate ‘ \_1 A
‘ B

=T
1|

(5 )| cETOP5/NG10 . - P
__ 80 _ 48
3/4" BSP . w2 .
rear and side connectors _ 46 25 S L5 50
€ ¥ |
No variant (© | O +—1- (o : &)

Serial No. .

il
i
5
he
O
52
.

) ﬁgg; B _ I AN f%
Weight: 3,9 Kg ~ VY

Fixing screws
M6x50 UNI 5931 n

=

“‘“
| I
T
-
;D
4
Iz
%kr
D
Nl
2
Vo

/SH‘
\@r
i

-5

N
A\W

e
o
&

BS.5.3 (rRepucTion pLATE FRom CeToP 5/NG10 To CETOP 3/NG6)

Single subplate

]

(5 ) | CETOP&/NG10 59.5 s
245 32 :32 5: T AP B T
('3 ) | CETOP3/NG6 5.5 21 2.
No variant | a i gl I 720 \,‘ @)
:@ﬁ\'l B N g;j f&ﬂ 1
Serial No. O = 40 7 gl el
7@%7\—75%2 = ——g/‘ CDAE&: S g
8 ~ N !
B@ ! . gT’/ N I
Weight: 1,1 Kg 3@17 S [ S I 77 <5 S /7 !
¥ I & &
Fixing screws ‘
M6x30 UNI 5931 31
_ 89
Vil e 21

PDF created with pdfFactory Pro trial version www.pdffactory.com



http://www.pdffactory.com
http://www.pdffactory.com

